Ne ApTUKYN HanmeHoBaHue Kon
1 Konnak Koneca 2
2 Malika 4
3 MogwnnHuk 2
4 1909-297-004 |Koneco nepegHee 2
5 lalKka HelnoHOoBanA 4
6 LWaiba 4
7 Ocb nepegHAan 1
8 MNnactnHa 6
9 BuHT ST4.0x16 30
10 Konnak Koneca

11 |909-297-011 [(Koneco 3agHee

2

2
12 laMKa HeMnoHoBaA 1
13 Mpy*nHa 1
14 KpoHLWwTenH 1
15 bont M6x14 2
16 BonT cneunanbHbii M5 1
17 [909-297-017 |(Pbiyar 1
18 BuHT M5x10 2
19 Pyuka 1
20 Tara 1
21 Ocb 3aaHAA 1
22 PyyKa HMXHAA YacTb 2
23 MnactnHa 1
24 1909-297-024 |[Mpy*KuHa 1
25 bont M10x30 1
26 |909-297-026 |Waliba 1
27 (909-297-027 |Hoxk 1
28 [909-297-028 [ApanTep HOXKa 1
30 [eka 1
31 |909-297-031 |Osuratenb 1
32 BuHT ST5.0x25 4

Mogenb
Fa30HOKOCU/IKA aKKYMYNATOPHAA LMB3840
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 1




Ne ApTUKYN HanmeHoBaHue Kon
33 AmopTusatop 2
34 |909-297-034 |MnaTa ynpasaeHuA 1
35 Kopnyc 3aaHunit 1
36 3aXKnum 1
38 Knasuwa 1
39 (909-297-039 |MpyKunHa 1
40 KpbiwKa 3aaHAA 1
41 Haknagka 1
42 KpbilWwKa BepxHAA 1
43 BuHT ST2.5%10 1
44 3arnywka 1
45 Pasbem 1
46 3arnywka ana myab4npoBaHua 1
47 BuHT ST4.8x19 21
48 KpbiwKa npo3payvHan 1
49 Maruut 1
50 BuHT ST4.0x16 2
51 Haknagka marHutHas 1
52 |909-297-052 |Py4ka 1
53 BuHT ST3.5%x14 2
54 Malika 2
55 bapawek 2
56 Pyyka BepxHAA 1
57 Bont M8x42 2
58 BuHT ST4.0%30 2
59 Kopnyc BbikAtoYaTeNnss HUXKHUN 1
60 MpyXKnHa 1
61 Tara 1
62 Bont M6x30 1
63 |909-297-063 |KpoHwTenH 1
64 Pbivar 1
Mogenb
Fa30HOKOCU/IKA aKKYMYNATOPHAA LMB3840
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 2




Ne ApTUKYN HanmeHoBaHue Kon
65 Tpoc 1
66 MpyXunHa 1
67 bnok 1
68 Knasuwa 1
69 MpyXunHa 1
70 MpyXunHa 1
71 OrpaHuuunTens 1
72 Kopnyc BbikntouaTens BepxHum 1
73 Bnok 1
74 Wrnor 1
75 [909-297-075 |Pyyka TpaBocbopHUKa 1
76 |909-297-076 |TpaBOCOOPHUK BEPXHSAA YacCTb 1
77 |909-297-077 |TpaBocbOpHUK NpaBas YacTb 1
78 |909-297-078 |TpaBocbOpHUK NeBadA YacTb 1
79 BcTaBka 1
80 Tpocuk 1
81 Malika 1
82 Haknagka 1
83 MpoBoaa B cbope 1
Mogenb
Fa30HOKOCU/IKA aKKYMYNATOPHAA LMB3840
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 3




